Kwik Cricket Eight-a-Side - Scoresheet

TEAM BATTING 15"

TEAM BATTING 2N°:

15T PAIR: 15T PAIR:
15T OVER 2\° OVER 15T OVER 2\° OVER
BOWLER: BOWLER: BOWLER: BOWLER:
RUNS: WKTS: RUNS: WKTS: RUNS: WKTS: RUNS: WKTS:
CUMULATIVE TOTAL: CUMULATIVE TOTAL: CUMULATIVE TOTAL: CUMULATIVE TOTAL:
. |
2\P PAIR: 2\P PAIR:
3R OVER 4™ OVER 3R OVER 4™ OVER
BOWLER: BOWLER: BOWLER: BOWLER:
RUNS: WKTS: RUNS: WKTS: RUNS: WKTS: RUNS: WKTS:
CUMULATIVE TOTAL: CUMULATIVE TOTAL: CUMULATIVE TOTAL: CUMULATIVE TOTAL:
. |
3RP PAIR: 3RP PAIR:
5™ OVER 6™ OVER 5™ OVER 6™ OVER
BOWLER: BOWLER: BOWLER: BOWLER:
RUNS: WKTS: RUNS: WKTS: RUNS: WKTS: RUNS: WKTS:
CUMULATIVE TOTAL: CUMULATIVE TOTAL: CUMULATIVE TOTAL: CUMULATIVE TOTAL:
= |
4t PAIR: 4t PAIR:
5™ OVER 6™ OVER 5™ OVER 6™ OVER
BOWLER: BOWLER: BOWLER: BOWLER:
RUNS: WKTS: RUNS: WKTS: RUNS: WKTS: RUNS: WKTS:
CUMULATIVE TOTAL: CUMULATIVE TOTAL: CUMULATIVE TOTAL: CUMULATIVE TOTAL:
Match Result
(Team) ( runs for Wkts)
Defeated

(Team)

runs for Wkts)




Method of Scoring

Don’t forget:

¢ Batting starts with 200 runs

¢ Runs added to total

¢ 5 runs deducted if batter is out

¢ Give extra ball for a Wide or No ball in final over of each innings only

= no run, no wicket
= wicket taken
runs scored
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= No ball — number of runs written inside circle
Wide — number of runs inside bracket

—
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Example of a two over spell (5 runs deducted for lost wicket)

1st Over:
no run wide (no extra runs scored from it)
four no run
wicket falls one run

7 runs scored, 1 wicket lost; 200+7 = 207-5 = 202

2nd Over:
wicket one run
one run three runs
three runs (from a no ball) no runs

8 runs scored, 1 wicket lost; 202+8 = 210-5 = 205

15T PAIR: Ann Smith & Jill Jones
15T OVER 2\° OVER
BOWLER: Susan Summer BOWLER: Mary Lamé
(2) W |
4 c I 3
% [ ®
RUNS: WKTS: | RUNS: § WKTS: |
CUMULATIVE TOTAL: 202 CUMULATIVE TOTAL: 205

0 Chance to Shine
supported by “Brit Insurance




